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IB6E |Favs| KER | BE BEF4 & |POS| [H#K FF | SAF
1 B BAX 6 |FFE EA 3 LB 7 0 0
2 A BEMK | 49 [FEK K 4 LB 5 0 1
2| B mRK [ 31 [FW K 4 LB 5 0 0
2| A FREM 1 % RZIE 4 DL 5 0 0
2| B BAX | 99 |EH XAEH 4 DL 5 0 0
6| B NN 3 (A MF 4 DL 4.5 0 0
7 B IHK | 99 (O BF 2 DL 4 1 0
71 A HEK 2 |[@ls EXE 4 DL 4 0 0
71 A BHRERKX BE  #hAER 4 DL 4 0 0
0] A HRKX | 72 |[£EHF —z4 4 DL 3 1 0
0] A BWRA | 34 [BH =4 3 DB 3 0 0
10| B ZBK | 55 |# BF 3 DL 3 0 0
10| B PRX 1 /bt RA& 4 DL 3 0 0
10| B ki | 35 |EE RBHE 3 LB 3 0 0
10| B mRK [ 99 |ARF EtH 3 DL 3 0 0
10| B THK | 96 [HK Ri 3 DL 3 0 0
0] A BHERK [ 91 [M¥ & 3 DL 3 0 0
0] A WEMK | 35 |[BE Kkt 1 LB 3 0 0
19| B ZHEX | 52 |52 B 3 DL 2.5 0 0
20 B EBRK 7 [EBH K 4 DB 2 1 0
20| B mRK | 52 [KE & 3 DL 2 1 0
20 A BfH | 90 |5k BA— 4 DL 2 0 0
20| B ZEBKAX | 53 |[FR &HRE 3 DL 2 0 0
20| B ZEBA | 57 WA %t 3 LB 2 0 0
20| B FEHBK [ 91 (WX E 4 DL 2 0 0
20| A PPN 4 (A #X 4 DB 2 0 0
20| A BAK | 38 |ER EKX 3 DB 2 0 0
20| A BAK | 68 |MHR X 3 DL 2 0 0
20 A BEREX 20 |3k BE 4 LB 2 0 0
20 [ A BHERK | 22 [FE#E X 3 DB 2 0 0
20 A HEK | 58 [FE B 4 LB 2 0 0
20| B BAKX 9 |RE BE 3 LB 2 0 0
20 B BAX | 69 |#hik FE3l 1 DL 2 0 0
20| B BAKX | 90 [BER X3 4 DL 2 0 0
3B A BfWE | 43 [BE#E M2 2 DL 1.5 0 0
35| A PPN 2 |HH 2 3 DB 1.5 0 0
3% | B BAKX | 91 (A& & 1 DL 1.5 0 0
38 A BFEH 22 (A SEE 3 DB 1 1 0
38| A WEMK | 95 [2FR X 3 DL 1 1 0
38| A BiEM 2 (=M =% 4 DL 1 0 0
38| A BFEH 27 |FKR & 3 DB 1 0 0
38| A Bf@E | 47 |BA £E 4 LB 1 0 0
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IB6E |Favs| KER | BE BEF4 & |POS| HEK FF | SAF
38| A B FEH 49 ([&F EH 3 DL 1 0 0
38| A BFEH 95 (A = 4 DL 1 0 0
38| A BFEH 99 (LA HHAKER 3 DL 1 0 0
38| B EBRK =l BE 4 DB 1 0 0
38| B EBRK AH HE 4 LB 1 0 0
38| B ZEERKX | 22 |XE = 4 DB 1 0 0
38| B ZEEXAX | 31 |HI ETK 3 DB 1 0 0
38| B ZEEAX | 33 |JIF i 2 DB 1 0 0
38| B ZEEAX | 41 |EE Rt 1 LB 1 0 0
38| B ZEA | 90 |#EA REAHE 4 DL 1 0 0
38| B RRX 9 |ude T—HA 3 LB 1 0 0
38| B mRK [ 25 |[K% ETE 4 DB 1 0 0
38| B mRKX [ 75 [AE #A 3 DL 1 0 0
38| B mRK [ 91 [EL XiE 1 DL 1 0 0
38| B mRKX [ 94 |BEN BE 2 DL 1 0 0
38 B kX [ 97 |4&A EHA 4 DL 1 0 0
38| A BAXK | 33 |[#Hn EE 2 DL 1 0 0
38| A BAXK | 93 |98 SR 2 DL 1 0 0
38| A BAK | 99 (LK = 3 DL 1 0 0
38| B IHK 7 |A%F Z=AER 3 DB 1 0 0
38| A BEAX | 42 |kt ZEXH 3 DL 1 0 0
38| A HERKX | 59 |2l B& 3 LB 1 0 0
38| A HEAX | 94 |iFE %4 4 LB 1 0 0
38| A EE 2 7 |RA it 3 DB 1 0 0
38| A BEXK | 21 |FH EBX 3 DB 1 0 0
38| A PEK | 47 |8H s 4 LB 1 0 0
38| A PEH | 68 |HE ME 4 DL 1 0 0
38 B BAKX 42 [t BR 4 DL 1 0 0
38| A B FEH - |R# Kt 1 DB 1 0 0
38| A BFEH - |EEE ETREH 1 DL 1 0 0
13 A BFEH 54 |[KEE TJzlLvhk fE 4 LB 0.5 0 0
3 A BAK | 20 K& &= 2 DB 0.5 0 0




